
	               1800 790 915				                 pumpsaustralia.com.au				                                   sales@pumpsaustralia.com.au

		  PUMPS AUSTRALIAPTY LTD

		  PARTS BREAKDOWN

          1800 790 915				                 pumpsaustralia.com.au				                     sales@pumpsaustralia.com.au
PUMPS AUSTRALIA PTY LTD

Model:  RX50T - 2” Trash Pump 

39



PUMPS AUSTRALIAPTY LTD

PARTS BREAKDOWN

	               1800 790 915				                 pumpsaustralia.com.au				                                   sales@pumpsaustralia.com.au
	          PUMPS AUSTRALIA PTY LTD

          1800 790 915				                 pumpsaustralia.com.au				                     sales@pumpsaustralia.com.au
PUMPS AUSTRALIA PTY LTD

Model Weight 
(KG)

L 
(mm)

W 
(mm)

H 
(mm)

RX50T Kit

Package Information

Postion Qty Description

36 1 Filter Basket
1 3 Clamp
2 2 Joint Grip
3 2 Pipe Joint
4 2 Rubber Packing
5 4 Bolt M8*25
6 4 M8 Spring Washer
7 1 Outlet Flange
8 1 Outlet Gasket
9 1 Outlet Housing

10 1 Priming Plug 1” BSP Male
11 1 Plug O-Ring
12 10 Bolt M10*30
13 10 M10 Spring Washer 
14 2 Plug O-Ring
15 2 Inspection Plug 1” BSP Male
16 4 Bolt M12*45
17 1 Outlet Housing Gasket
18 4 M12 Spring Washer
19 1 Backplate
20 4 Eyelet Bolt 
21 4 M8 Washer
22 4 Engine Bolt M8*60
23 1 Mechanical Seal
24 1 Rubber Packing Ring
25 3 Impeller Shim Washer
26 1 Impeller QXU 3/4”
27 2 Bolt M8*30
28 1 Diffuser
29 1 Casing O-Ring
30 1 Diffuser O-Ring
31 1 Front Bowl
32 4 M14 Washer
33 1 Check Valve
34 4 Inspection Bolt Nut
35 1 Suction Flange

*All prices exclude GST

Model:  RX50T - 2” Trash Pump 

40


